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File Name: UserVisits.dat

Files of Type: | all files

Uploading UserVisits.dat (2.6 TB) to HDFS...

Stop

import org.apache.hadoop.io.IntWritable;
import org.apache.hadoop.io.Text;
import org.apache.hadoop.mapreduce.Mapper;

import java.io.IOException;

VeSS
* User: Bob
* Date: 29.08.12
* Time: 10:45
*/
public class BobsMapper extends Mapper<IntWritable, Text, Text, Text> {
@override
public void map(IntWritable key, Text value, Context context)
throws IOException, InterruptedException {
// implement me!



30 minutes later...

Uploading UserVisits.dat (2.6 TB) to HDFS...

Stop

Uploading 2.6 TB of UserVisits.dat




import org.apache.hadoop.io.IntWritable;
import org.apache.hadoop.io.Text;
import org.apache.hadoop.mapreduce.Mapper;

import java.io.IOException;

VeSS
* User: Bob
* Date: 29.08.12
* Time: 10:45
*/
public class BobsMapper extends Mapper<IntWritable, Text, Text, Text> {
@Override
public void map(IntWritable key, Text value, Context context)
throws IOException, InterruptedException {
String[] lineFields = value.toString().split("\\|");
if ("168.114.15.1".equals(lineFields[0])) {
context.write(key, value);
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import org.apache.hadoop.io.IntWritable;
import org.apache.hadoop.io.Text;
import org.apache.hadoop.mapreduce.Mapper;

import java.io.IOException;

VeSS
* User: Bob
* Date: 29.08.12
* Time: 10:45
*/
public class BobsMapper extends Mapper<IntWritable, Text, Text, Text> {
@Override
public void map(IntWritable key, Text value, Context context)
throws IOException, InterruptedException {
String[] lineFields = value.toString().split("\\|");
iRi("'168.114.15.1".equals(lineFields [0]))ed
context.write(key, value);

¢
Y ) /|

Map Progress

Reduce Progress

Stop

¢
Y ) /|

Map Progress

Reduce Progress

o3




MapReduce Job 4711

[0 izl
i

00| o0

[l [l

Creating Trojan Index on Attribute O0...

Trojan Index Query Time

120

W Hadoop B Hadoop++ (Trojan Index)

90

60

Job runtime [s]

30

100 nodes

[ J. Dittrich, J.-A. Quiane-Ruiz,A. Jindal,Y. Kargin,V. Setty, and ). Schad. Hadoop++: Making a Yellow Elephant Run
Like a Cheetah (Without it Even Noticing). PVLDB 2010.]



00! 00|

(] [l
o o0k

00| o0

‘ ‘ [l [l

Creating Trojan Index on Attribute O...

Stop

o)
[l
rs o

e O O O

Creating Trojan Index on Attribute O0...

ot [

J

MapReduce Job 1337




Trojan Index Creation Time

Hadoop =2 Hadoop++(256lViB) —
50000 | HadoopDB —/——= Hadoop++(1GB) |
(I)ndex Creation
(C)o-Partitioning
Data (L)oading
40000
7y
el
c —
8 —
$ 30000 .
2,
© |
£ I
5 20000 | .
C
10000 C % .
L L L
0
10 nodes 50 nodes 100 nodes

[ ). Dittrich, J.-A. Quiane-Ruiz,A. Jindal,Y. Kargin,V. Setty, and J. Schad. Hadoop++: Making a Yellow Elephant Run
Like a Cheetah (Without it Even Noticing). PVLDB 2010.]




HDFS
+ MapReduce

2 at

=

HDFS

{ONT— - DN>— L ~DNS L — DNA— - DNS 1 DN6



HDFS

horizontal partitions

HDES
HDFS blocks

horizontal partitions 64MB (default)

HDFS

D AP S S






Failover

HDFS

I*Il*

(DN S ONZ= T ==DNS == ==DNA==17=DN5= " ==DNe==

MapReduce

HDFS




HDFS

¥

? map(row) -> set of (ikey, value)
i

MapReduce
HDFS

€

Map Phase ‘H

Map Reduce map(row) -> set of (ikey, value)

HDFS




¥

Map Phase ¥

Map Reduce map(row) -> set of (ikey, value)

HDFS

® '@ I® ® '® I®

-l

¥

Map Phase ¥

MapReduce map(row) -> set of (ikey, value)

HDFS

Q0 ®I®I®I® IO

.. .... - L

L S R L S L

€

Map Phase ¥

Map Reduce map(row) -> set of (ikey, value)

HDFS

® 0 ®I®I®I® IO

o| o] [&] [v] || |2

7‘
o ove Lo Lo o ot o




¥

Map Phase &

MapReduce map(doclD, document) -> set of (term, doclID)

HDFS

IﬂlIJI t

-DN -DN -DN —‘5'“5’q -DN

HDFS
+ MapReduce

r3

HDFS H-Ts HAIL
+ MapReduce + MapReduce




Bb-Ts HAIL
+ MapReduce

v/

o

(o
=

HAIL

{ONT— - DN>— L ~DNS L — DNA— - DNS 1 DN6



HAIL

horizontal partitions

HAIL
HDFS blocks

horizontal partitions 64MB (default)

HAIL

D AP S S



HAIL

HAIL

. I . . . I cee .

HAIL

tuimf A e @

D AP S S




HAIL

[7]e]s]
waimh dmk dn

HAIL

[7]e]s]
fhdad La2 42

HAIL

AAARARARANAL - 2w

D AP S S




I

HAIL

AAATARAZAAAL - A

Failover

HAIL

ﬂ% ﬂﬂ%ﬂ 4

%

Detalls




HAIL Upload Pipeline
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Individual Jobs: Weblog, Job
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Hadoop Scheduling

Map Reduce map(row) -> set of (ikey, value)

HAIL
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HAIL Scheduling
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Individual Jobs: Weblog
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